+4 AABC A sinA — cos A 9]




2.

3
SinA = 1 A o, cosA + tanA 9] g9

® 16 V7 ® 177
27 27
197 207

28 ® 27



3.  cos60° x tan 60° + sin 60° = Al4HSIH?

D 2 ® 3 3 2 @ 242 G 24/3



oha 19014 9 0 = aABC 9] & ol
Hz]2 9] Zol= 10em ©|th. AC = 12cm
A of, sin A o] g7




Jol7 1 91 AR $le] A2

2 b 2.8




6. 0°<x<90° ¥, & T &> A7
@ 0<cosx<1 @ 0<sinx<1 @ 0<tanx<1

@ -1<tanx<0 B -1<sinx<1



7. oF Ao ghol 7B 2R A9
@ sin30° @ cos30° @ sin90°

@ tan4s° ®) tan50°



@D 39°

o] TE Hlsinx = 0.6691 & o, x o] 727
2t | AFQl(sin) | EAFRl(cos) | EtMIE(tan)
39° 0.6293 0.7771 0.8098
40 0.6428 0.7660 0.8391
471° 0.6561 0.7547 0.8693
4 0.6691 0.7431 0.9004
® 40° B 41° @ 492° B) 45°
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10. o2 TJFofA cosA_g o],
AH =12, BH=4+3 ¢ o], AC 2] Zo]&?
B
!
4/3
\
C
A, —u ¢

@D 10 ® 12 3 14 @ 16

B 18
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12. ohg 2337 2ol y = mx+n 9] 127}
x Z3} oFo] Hhgko 2 o] R Z1o] 97]5 ¢

23 3 o), m S UrEhd 2129

T AT

D tana @ cosa—-sina
1 cosa
. @ —
sina sina

tan a




13.

sinA:cosA=4:5 % I, tan(90° - A) °] gL-& oo},
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ot w
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14. 0°<A<90° ¢ o, o33 7Hks] SHA?
\/(COSA + 1)2 + \/(COSA - 1)2 + V4cos? A

@ cosA-1 @ cosA +2 @ 2cosA-1

@ 2cosA +1 3 2cosA + 2



15. AZ47tE ABC oA AB = 8em , _4/3em-
BC = 4v3cm ¥ 0, /B o] 27|=9 - <

O 15° @ 30° @ 45°
@ 60° ® 75°




e sin cos tan
44 0.6947 0.7193 0.9657
45 0,7071 0,7071 1,0000
46 0,7193 0,6947 1,0355
O 1.022 @ 6.947 ® 7.071

@ 9.567 3 10.355



17, oh& 2™elA siny + cosx 2] gH2?




18.

4sin%45° = tan230° x 2 cos? 45° 2 7k

@D 4 ® 5 3 6

} 09

1__

@ 7



19. o2 138oA LA = 60°, BC = 6cm ¥
wl, 9419 0 © WAF] o]t
@ 3cm @ 4cm
©) \/gcm @ 2\/§cm
® 3+3cm




20. o=
S aRolH 32 - x o] 3L




